02/01/200
tbll 05/01/2009
05/01/2009
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J3/01/2009 1
tbl2 03/01/2009 1
040172009 1
05/01/2009 1
0
0 19
01,2009
SELECT tbl1.[Order Date] as JOBDATE FROM tbl1 UNION SELECT tbl2.[Compl Date] as JOBDATE FROM tbl2; qryl 03/01/2009
04/01/2009
05/01/2009

SELECT gry1.JOBDATE, tbl1.[Arrival Rate], tbl2.[Departure Rate] FROM (qryl LEFT JOIN tbl1 ON gqry1.JOBDATE = tbl1.[Order Date]) LEFT JOIN tbl2 ON
qryl.JOBDATE = tbl2.[Compl Date];

01/01/2009
02/01/2
03/01/2009

1

ary2 03/01/2009 1
04/01/2009 1

05/01/2009 1 1

05/01/2009 1 1




